
SQ² Floor Toms
No replacement,   
please ask your

local dealer



Square head screw 56mm

6 pcs / pack

190 255 01  chrome

190 255 05  gold

190 255 07  aranja

Slotted screw 56mm

6 pcs / pack

190 343 01  chrome

190 343 05  gold

190 343 07 aranja

Lug complete

190 341 01  chrome

190 341 05  gold

190 341 07  aranja

190 342 01

each 2 pcs / pack

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



Badge / Logo,  chrome No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



Prism clamp complete

190 036 01   chrome

190 036 05   gold

190 036 07   aranja

190 266 01  chrome

190 266 05  gold

190 266 07  aranja

Floor Tom leg complete

190 068 01  chrome

190 068 05  gold

190 068 07  aranja

190 075 01

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



14“ 8 Rods   190 054 01   chrome

14“ 8 Rods   190 054 05   gold

14“ 8 Rods   190 054 07   aranja

15“ 8 Rods   190 049 01   chrome

15“ 8 Rods   190 049 05   gold

15“ 8 Rods   190 049 07   aranja

16“ 8 Rods   190 055 01   chrome

16“ 8 Rods   190 055 05   gold

16“ 8 Rods   190 055 07   aranja

18“ 8 Rods   190 117 01   chrome

18“ 8 Rods   190 117 05   gold

18“ 8 Rods   190 117 07   aranja

14“

15“

16“

18“

Hoops:


